

$$f(n) = n + [n]$$

$f(n) = n$ مصلح برای $f(n)$ است (الف)
 $n + [n] = n \rightarrow [n] = 0 \rightarrow 0 \leq n < 1, n \in Df = Rf$ تابع $f(n)$ صوری است
 تابع $f(n)$ در $[0, 1)$ مطابق با معنی می‌باشد، سطح باز، محدود، ممکن باشد.

$$f \circ f^{-1}(n) = n ; n \in Df^{-1} = Rf$$

$$n = rn - \frac{r}{r} \rightarrow n = \frac{r}{r}, \frac{r}{r} \notin Rf$$

برای $n = \frac{r}{r}$ باشندگان

$$n = a - \frac{b}{r} \rightarrow y = n \rightarrow -\frac{b}{r} = \frac{a}{r} \rightarrow a = -b$$

$$y = \frac{a}{r}$$

میانیتی \Rightarrow میانیتی \Rightarrow میانیتی

$$f(n) = f(n) \rightarrow f \circ f = f \circ f^{-1}(n) \rightarrow f \circ f(2 - \sqrt{4}) = 2 - \sqrt{4}$$

$$f(n) = \frac{rn + r}{n + m + r} \rightarrow f(n) = n - \frac{rn + r}{n + m + r} = n$$

$$rn + (m + r)n = rn + rn \rightarrow rn + rn - rn = 0$$

$$\frac{1}{a} + \frac{1}{b} = \frac{a+b}{ab} = \frac{r}{r} = \frac{-r}{r} = 1$$

$$f(n) = |rn + d| - |rn - r| \begin{cases} rn - r & n \leq -\frac{d}{r} \\ rn + r & -\frac{d}{r} \leq n \leq \frac{r}{d} \\ -rn + r & n > \frac{r}{d} \end{cases}$$

$$f(n) = -rn + r \rightarrow f^{-1}(n) \Rightarrow n = -ry + r \rightarrow f(n) = -\frac{1}{r}n + \frac{r}{r}$$

$$ry = r - n \rightarrow x \in Df = Rf$$

$$g^{-1}(n) = a f^{-1}\left(\frac{n+b}{c}\right) + d \rightarrow g^{-1}(n) = t \rightarrow g(t) = n$$

$$t = a f^{-1}\left(\frac{n+b}{c}\right) + d \rightarrow f^{-1}\left(\frac{n+b}{c}\right) = \frac{t-d}{a} \rightarrow \frac{n+b}{c} = f\left(\frac{t-d}{a}\right)$$

$$c f\left(\frac{t-d}{a}\right) - b = n = g(t) \rightarrow g(t) = c f\left(\frac{t-d}{a}\right) - b \rightarrow c = r, b = 1$$

$$\frac{t-d}{a} = rt \rightarrow -\frac{d}{a} = 0 \rightarrow d = 0, t = 1 \rightarrow \frac{1}{a} = r \rightarrow a = \frac{1}{r} \rightarrow \frac{ac + d}{rb} = \frac{\frac{r}{r} + 1}{r \cdot \frac{1}{r}} = \frac{1}{r}$$

$$f(n) = x + \sqrt{x+1} \Rightarrow x + y = (\sqrt{x+1})^2 \rightarrow \sqrt{x+1} + 1 = \sqrt{y+1} \rightarrow \sqrt{x} = \sqrt{y+1} - 1$$

$$x = y+1 + 1 - \sqrt{y+1} \rightarrow y = x - \sqrt{x+1} + 1, x \in Df^{-1} = Rf$$

$$Rf = [0, +\infty) \quad (\sqrt{x+1})^2 - 1 \geq 0$$

$$Df = [0, +\infty)$$

$$f(n) = x - \sqrt{x+1} + 1, x \in [0, +\infty)$$

$$y = x - 1 + r^x \rightarrow \text{الخط المستقيم}$$

$$x - 1 + r^x = x \rightarrow r^x = 1 \rightarrow x = 0$$

$$\text{الخط المستقيم } (0,0) \text{ ينبع من } x=0 \text{ و } y=0$$

$$f(n) = f^{-1}(n)$$

$$y = \sqrt{f^{-1}(n)} - n \rightarrow f^{-1}(n) \geq n \xrightarrow{f(n) \text{遞增}} x \geq f(n)$$

$$x \geq n^r + rx \rightarrow \xrightarrow{r > 0} n^r + rx \rightarrow n(n^r + r)$$

$$n \in (-\infty, 0] \rightarrow \text{الخط المستقيم} \xrightarrow{r < 0} -\frac{1}{r} +$$

$$y = -x + \sqrt{x+1} \xrightarrow{\text{الخط المستقيم}} x = -y + \sqrt{y+1} \xrightarrow{\text{الخط المستقيم}},$$

$$(x+1) = -y + \sqrt{y+1} \xrightarrow{y = n^r} x+1 = -(n^r) + \sqrt{(n^r)+1}$$

$$x+1 = -n^r + \sqrt{n^r+1} \rightarrow rx+1 = \sqrt{n^r+1} \rightarrow rx+1 \geq 0 \rightarrow x \geq -\frac{1}{r}$$

$$rx^r + rx + 1 = x+1 \rightarrow rx^r + rx = 0 \rightarrow x(rx + r) = 0$$

$$f(n) = \sqrt{x} + \sqrt{y} = r \rightarrow f^{-1}(n) = \sqrt{y} + \sqrt{x} = r \rightarrow f(n) = f^{-1}(n)$$

$$f \circ f(n) = f \circ f^{-1}(n) = x, x \in Df^{-1} = Rf, x \in Df$$

$$Df = [0, \infty], Rf = [0, \infty]$$

